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1. Write an antiderivative for each of functions

using the method of inspection :sin 2x

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TTw92MbnA7s5

2. Write an antiderivative for each of functions

using the method of inspection :e*

o View Text Solution

3. Write an antiderivative for each of functions

using the method of inspection :cos 3z — e’z

o Watch Video Solution



https://dl.doubtnut.com/l/_TTw92MbnA7s5
https://dl.doubtnut.com/l/_ca52ScR1DbPV
https://dl.doubtnut.com/l/_ndKGkVZ2aUKZ

4. Find the integral of function /can2 xdx

o Watch Video Solution

5. Find the integrals of functions
222 +3\°
/(—a: il )daz
T
o Watch Video Solution
6. Find the integrals of functions

3
/(a: +1)daz
r+1


https://dl.doubtnut.com/l/_LW51O7kZ11pz
https://dl.doubtnut.com/l/_E8xUVv4TW7kL
https://dl.doubtnut.com/l/_lmtMtRA7NLyT

° Watch Video Solution

7. Find the integrals of functions
/(3:132 + e** + sin 2z)dzx

o Watch Video Solution
8 Find the integrals of functions

r —1

3 2
T —x° +x —1
/ dx

° Watch Video Solution



https://dl.doubtnut.com/l/_lmtMtRA7NLyT
https://dl.doubtnut.com/l/_kMveYlz5He94
https://dl.doubtnut.com/l/_R6iy16UAgUOY
https://dl.doubtnut.com/l/_pFJgzoz3ogvO

— 3sinx
0, dz
cos?

° Watch Video Solution

— sinx
10. /I dzx
cos? x

° Watch Video Solution

Find the integrals

/ Cos 2x
dx
/1 + sin2z

functions

o Watch Video Solution



https://dl.doubtnut.com/l/_pFJgzoz3ogvO
https://dl.doubtnut.com/l/_IfKKzUG1Jk0k
https://dl.doubtnut.com/l/_e8ULqZElCaOH

12. Evaluate

dx
. 92 2
SN & COS® I

o Watch Video Solution

sinx
13. Evaluate: - dx
sinxz — cosx

o Watch Video Solution

14. Evaluate: /cos3 3z dx

f


https://dl.doubtnut.com/l/_e8ULqZElCaOH
https://dl.doubtnut.com/l/_jL9gSvEDnihK
https://dl.doubtnut.com/l/_Xl7VzzwHY59C
https://dl.doubtnut.com/l/_y817m5Heu0o3

Watch Video Solution

dz
15. Evaluate:

1 —cosx

o Watch Video Solution

1 + cos 2x
16. d
/1 — COs 2x v

Atanx —x — ¢
B.tanx +x + ¢

C.tanx + c


https://dl.doubtnut.com/l/_y817m5Heu0o3
https://dl.doubtnut.com/l/_wnb5jjfFlIDo
https://dl.doubtnut.com/l/_KwhfrYIBYBdx

D.cotxz + c

Answer: A

o Watch Video Solution

1
17./ . - dx
1 —sinx

A. tan x-sec x+c
B.sinx + ¢
C.tanx +secx + ¢

D.tanx + c


https://dl.doubtnut.com/l/_KwhfrYIBYBdx
https://dl.doubtnut.com/l/_4HuxEjvOgP3x

Answer: C

o Watch Video Solution

1
18. d
/ 1 — cos 2z v

A . —cot x
2

B.—gtana: +c

C.2tanzx

D ! t
°_§CO x

Answer: A


https://dl.doubtnut.com/l/_4HuxEjvOgP3x
https://dl.doubtnut.com/l/_H0J8V6052tIc

° Watch Video Solution

19./ T gz =
1+ coszx

A.secx + ¢
B.cotx + ¢
C.—cosecx + c

D.—cosecx +cotx +x + ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_H0J8V6052tIc
https://dl.doubtnut.com/l/_sdksvsajgeCE

20. /ta,n2 T dx

A tanxz = c
B.tanx — x + ¢
C.cotx —x +c¢

D.secx + c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sdksvsajgeCE
https://dl.doubtnut.com/l/_nzrJWa67XhWJ

21./(3:cﬁ +4,/z 4 5)dx =

6 s 8 3
A.3x2—§w2+5a}+c

6 s 8 3
B.gaz2—|—§m2—|—5m—l—c

6 5 4 3
C.gw2—|—§w2—l—5az—|—c
D.éx%+§x—3+5w—|—c

5) 3 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D13YVtMfQJR8

zz./<ﬁ+ %)2@; _

2

x
A. TIOga: — 2z +c

2172

B.T—I—logw—l—Qw—l—c

2132

C.T—logzc+2:c+c

.’132

D.T—I—log:c—l—élaz—l—c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kDrRepXOhr9X

1

3

A.§x2—|—logm—|—4w—|—c
3 3

B.ix + 2logx + 4x + ¢
3 3

C.E:z: + logx — 4z + ¢

3
D.EZB —logx + 4z + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_z2GN3YilxVco
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Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qM5aRYgDuBH0

sin® ¢ — cos®
25. > dx

sin“ x cos? ¢

A.secx — cosecx + ¢
B.secx + cosecx + ¢
C.secx + cosecx + ¢

D.secx + cosecx + ¢

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_G3gCBO7U1eZr

sin’
26. / dxr =
1+ cosx

A.2(cosecx —cotx) —x + ¢
B.2(cosecx + cotx) —x + ¢
C.2(secx — tanx) — z + ¢

D.2(secx + tanz) — = + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2rVbpjczshjf

. [ Vo) e

VT

5

2
A.2\/5—|—433—|—§%—|—c

3

2
B.\/E+2a:+§% +c

2
C.2yx+2c+ —2*?+¢

giL‘

2
D.3\/5—|—2:13—|—§w3/2—|—c

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_811iLQrjlKau

28. /e“" sin(e®)dr =

A.cos(e”) + c
B. cos(e”) + ¢
C.sin(e”) + ¢

D. —sin(e”) + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lP1VIxFw6DdO

29./(3:“ + e™ + e")dx =

A.m—+ + ez +c
a a
a axr
B. a
a—|—1+ 7 +e'x+c
wa—l—l ed®
a
C'a—|—1+ . +e'x+c
xa, axr a
D. + +e'x 4+ c
a—1
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PSvR8v3lVqPf

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qsCdsNfApHPl

31. Find the antiderivative of functions by the

method of inspection: sin 2z

o Watch Video Solution

32. Find the antiderivative of functions by the

method of inspection:(az + b)*

o Watch Video Solution



https://dl.doubtnut.com/l/_wUi1SJNETRjZ
https://dl.doubtnut.com/l/_PxrJ04SEuqMZ

33. Find the antiderivative of functions by the

method of inspection:cos 3z — e*

° Watch Video Solution

34. Find the antiderivative of functions by the

method of inspection: sin 2z — 4e%*

o Watch Video Solution



https://dl.doubtnut.com/l/_J0rX7CEMqrJH
https://dl.doubtnut.com/l/_hYPyqNACgIdJ

35. Find the antiderivative of functions by the

method of inspection: e™*

o Watch Video Solution

36. Find the antiderivative of functions by the

method of inspection:3z? — e”

o Watch Video Solution

37. Evaluate:/(w3 + 3T — 7) dx

f ) |



https://dl.doubtnut.com/l/_40A4bLJJ1MIK
https://dl.doubtnut.com/l/_7lrcRFTR4Yzm
https://dl.doubtnut.com/l/_YzpPV31J876q

o Watch Video Solution

3 +3 5
38. Evaluate:/w ToT dx
T + 2

o Watch Video Solution

39. /(a:z:3 +bx? + cx + d) dx

o Watch Video Solution

1
40. Evaluate:/(aa:% + be® — ;)dw


https://dl.doubtnut.com/l/_YzpPV31J876q
https://dl.doubtnut.com/l/_5QiJApFmeBFc
https://dl.doubtnut.com/l/_c7utNOaCzQW0
https://dl.doubtnut.com/l/_bGV5nDquo7cK

° Watch Video Solution

41. V1 —|—cos:13dm =
1 —cosx

° Watch Video Solution

42, /\/1 + cos xdz

° Watch Video Solution



https://dl.doubtnut.com/l/_bGV5nDquo7cK
https://dl.doubtnut.com/l/_GEp3t8NYAzNH
https://dl.doubtnut.com/l/_jrYiYHGzMpKK

43./<\/_ %)2@:

° Watch Video Solution

1+ sinx

1
44, Evaluate / dr.

° Watch Video Solution

tanx
45, dr =
secx + tanx

° Watch Video Solution



https://dl.doubtnut.com/l/_9jhziZeNiY2a
https://dl.doubtnut.com/l/_fZaZSbywbtST
https://dl.doubtnut.com/l/_sCTfAcD41ZJo

46. Evaluate:/(2:1c2 — 3sinx + 5\/5) dzx

o Watch Video Solution

47. /cos ecx(cosecr + cot x)dr = 7

o Watch Video Solution

2
sec” x
48, /—dw
cosecly

o Watch Video Solution



https://dl.doubtnut.com/l/_SGOuoHej1IsI
https://dl.doubtnut.com/l/_QvXbQKypx2lr
https://dl.doubtnut.com/l/_cagVkAfyo3ie




